S1/Eco/HNV UG/2ud Sem/ECON/CU-T-1V/1Y

U.G. 2nd Semester Examination - 2019

: ECONOMICS |
@g@“ //" , ..[I-IONOURS]
- .. Course Code : ECOH/CC-T-IV
Full Marks : 60 “Time : 24 Hours

The figures in the right-hand margin mdzcate marks. .

Candidates are required to give their answers in thezi own

words as fal as practicable.

.  Answerany ten questions: | 2x10=20
- i e Sea wie ¢

a)  Show that the function U=x+y is a homogeneous

O B O A 5

function.
| Rle @, U=xty T @3l smiies a1 magle
AT | |
P} What is an _Identity M_étfix? ‘
Identity Matrix ICF <01 ¢
, c¢) - Define rank of a matrix. - o .
~/ .WQZW(R%L)W\W@HI Y

d) GivenA=(3.8)'
0 1)

Find transpose of matrix A.
A TGz B (transpose) ﬁ“ﬁ |
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Find matrix C=A—B.
C=A ilGw 23t B il w Ransi 1)

o e

Problems (LPP)?
CRRE ST TP (LPP) I905 . @it ¢

g) n\ What is convex function?
®& (convex) W E I5te I @2

h)  Whatis quasi-convex function? .

’

—— .
W74 - SIS (quasi-convex) SIzopws 5 5

%mn do you mean by homothetic function?
Homothetic St 35700 ) @iat e, :

b)) Distinguish between linear function and linear

homogeneous function.

IR o 93RS TR S W

241257 @Y

k) What mo.%o: mean by unconstrained

optimisation?
Unconstrained optimisation I57c® 5 Qe

_w\ A consumer's moamma curve for x is. given by
Q=(100-P)2. Calculate his point price elasticity
of demand when the price of X is 60.

—
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What Qv You mean by Linear wnomamB.Em:m ]

42 T -y ‘
_ Q=(100-P)* T3

@36 Tara vifEat sweerw 6 2= Q=(1(

ﬂeoﬂm.&mﬂawmzﬁmﬂw@@&xﬂ@mﬁmﬁ ‘

I . . . -
What do you mean by Euler's theorem:

m) ;
/\ Euler @3 ©G I50S I &RA?

. itions i -output
) / Write Hawkins-Simon conditions 1n Input-outp
n :
; "model. S ) 5
.&\@%-@ﬁﬂmﬂﬂ mméﬁsm-mm?o:*ad@ e
| ion 1 inal-
0)”” Find total-revenue function and the margl e
revenue function mathematically from .

following m<mnmmo-ao<w=cw.ﬁ>wﬂ.v function :

=60-3 ‘
5T ﬂ%@.ﬂi%&@»ﬂw%&oﬂm s GfSf
T S ol RS wore<s e = | .
Answer any four questions: . 5%4=20
@I B1E 2eia Ted e 8
| W\ Evaluate the following determinant :

. fadfs< (determinant) WEE F93
1 1 4
g8 11 2 .
0 4 7

b) Solvethe following va by mammr.mo& method:
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Maximise: z=0x,+7x
’— . N
Subjectto:  2x,+3x, <12
, <
2X,+X, <8
(x,,%,)=0

c) . Discuss the basic assumptions of Leontief's Input-
= Output Model. ‘

. Leontief's Input-Output I S Rye = |

d) O?w: the total cost function C=15q~6g%+q°-

Derive the equations of average cost (AC) and

mehmwﬁﬁ cost QSOV curves. Find the output level
. which AC is miinimum and show that when.

AC is minimum AC=MC.

oTE .

a1e %Nﬂﬁﬂ‘lﬁﬂﬁ.ﬁﬂ O”_MQ|Q@N+Qw AT
JATAHTT (AC) QR QIS JT (MC) Seoiss fvely

I i : . .
91 @ TAmA AC AL T S A7 o1 9= (7Hlis
@ & E<Am AC=MC .

% Given U=(x+2)(y+1) and P, =4,P, =6 and

B=130:

W w.:o the Lagrangian function and find the
optimal levels of purchase x* and y* e

vt 79 x QI y a3 €A S A

U= (x+2)(y+1) @R g9f5a w17 ¢ (Sre@ @iy
b 0 ) : SERIE
vl P, IALV.< =6 ¥R B=130 Lagrangian

o =]

WX ¢y G AHrEn &= fAdizd 2
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\»\ The following ta

51/Eco/H/IV

ble gives the input-output
r cconomy consisting

of mm:o:::_d and manufzcturing industry:

fefEiRe GRATT 3 e i G2 R ¢ Bmmm input-
output noom._o—na WL =

>m:o=zc8

The final aanDa for the two industries are 3
and 100 units respectively- Find the gross oc:u:m..

of the two industries.
a3 2 %ﬂu%mﬁ?ﬂ@ﬂé.\ﬁ woo qaR

oom._o_osa fora 2<o secto

500, %aﬁ%ﬂa ﬁﬂuéﬁ@jﬁ
4|
Answer any two Qcommoa“ 10x2=20C
-G b A0 Taawie s
a) Giventhe following national income model :
oG GO S ST TR 3
=atbY (a>0, 0<b<l1) - RS G
=d+eY (d<0, 0<e<I) E
Y=C+I ; .
Write this three equation m%wﬁma in BmSA form..
Solve WOn the variables C,I and Y by OSBQ srule.
o+m15
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i : : ital and labour inputs.
wxﬁngyﬁﬂﬁﬁﬁg TG GRS WY Fsifo _ capite 49 (K) a3z

. qR p 2 AT SAFAT A >

SRE ST AR 9 @) TR C Lo y e & Bt Fafogiwt T |

WA Cramer's rule 93 AR el w31 . (L) . 2+2+6=10

KV&.\ Let the demand msam:wc_%m

unction for a : l- ost and demand
commodity be: d) Afirm has the following total-c .

Oan.luu+m dp/dt m:a.o . o ,.. functions : )
. i s="Y+ op. , T EG R
. . o b ; . E%maﬁﬂgaﬁﬁ.ﬁiﬁé% AP

*B.7,6>0; assuming that market is cleareq . : A

(Q=Q) at every point of time, find the time patp, -

colai_q02 +50
. C=-Q*-7Q*+111Q
of price (p) and comment on i 3 Q e .

L. 8+2=10
40 T SRR @ Qtetiw AT IAFw e - . Q=100-P :

.. . .. . i in terms
Qi=a l,.m +3.dp/dt @ Q,=—y+8p - D) Write ﬁo SS_E\@%QOS R i
Eﬁﬁpvmuﬁvamﬂwagﬁmﬁ%&gﬂ . LR % .Hc o (Q)

AOQHOmv TR (p) time path {9f 7 QIR I3 o iee . G n.m. e =i ,. “ ( . .
COINE Toisis wie | . AR =19 ]
\\@. Given the production function Q= %pﬁm e A ii) moisc_mﬁm the total-profit ?Dn.,\.SOD 7 in
: i terms of Q. e P2 L
that : ,
J b T o : GG SRR AT (1) BAWMER (Q) FAIRICT
CAMH WA Q=AK"I’ =1 (e @@, ) . @R L
i) « +3>1implies increasing returns to scale., iii) Find the profit maximizing level of output
. . . * -~ > -
a+B>1 E TIRLE dfswicrs gy . ol Q*. ; |
. . g ” T g : . g A AR SeAna (Q*) fRfa w41
i1) o+ B <limplies decreasing returns to ° 4 . : ) 1
| scale. . : iv)  What is the Maximum profit?
. . i TR AR Bl T
o+ B <1 & SN elfonicers fRas ﬂm&ﬁﬂmﬁa A it e
iii) o and B are, respectively, the partial .
elasticity of output with respect to the
. A . £
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